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orem: Un is an abelian group

under multiplication.⑭The identify is 1

.

See↓routionline notes

Atomithen S = 1

File



:

zkey fact:

i
191"= S



Ex: Vy = [ 1
,

3
,

34
, 933

zi/y Hi/2
where S = e = e

· S

4
Hi

e = g +g 1 = = S

S ⑨ ⑧ (

T

·3He

W

Here : S = 1

Ex : 92.9" = y= gg = 1 . ) = S

g2g = g" = 1 + (g4)"= g

9 . g = g" = 17 9 = 93



Dihedralgrouseedral group

Pen is the set of symmetries

of the regular n-gon.

regular n-you is an n-sided PolygonI where each side is the same length &
&
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The group operation is

function composition

#Let'slook at n = 3.
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